s S 825 2o &2 4

o

BT TEW?

@D 2.0333---=2.03 @0.3212121 <= 0.321
3 1.231231---=1.23 @3.015015 =3.015
G —0.340340--- = —0.34

ult]= 3 0|2 20333 .- = 2.03
nit] = 231 o] B2 1.231231--- = 1.231
nht] = 340 0] B2 —0.340340 - - - = —0.340







3. 7t= dol7t (2a)* , &OI7} Sab , A5HA| 2] F17} 80a°b* L
Alz o] dol&?

@2ab @ 20ab ® 8ab @ 2a%b ® 8a?b

(2a)® x (M 22] Zo]) x 5ab = 80a°b>

(M=) dol) = 80a°h? + (2a)? + bab
= 80a°b? + 8a® + 5ab = 2ab




ohe 4] ~x (5 - 2x) 5 7ha] shE?
42 10 42 5 22 5

@23x+43 @23)6 +15’x ®3x o
‘e,z 2, 10

@ 3.7( +3'x @ 3x + 3x

2 2 10 4

i 2 o0 4,

3xX5+3xx( x) 3x 3x




Bx-4°+a=92+bx+10 L W, a+b 2 F2? (Ha b
ga=olth)

@ -36 @—30 ® -24 @ -18 ® -12

rr

(3x)2-2x3xx4+42+a
=0x2-24x+16+a

16 +a =10

a=-6, b=-24
“a+b=-30




@x:—2,y:1 @x:Q,y:3

® x=-2,y=-3 @x:2’y:1
®x=2y=-1

B

{2x—y=3 -0 ANA y F= AASH] Yall, 9 x 2+ O
42 =8 0

=
=

rol

}.
Lx=2,y=1




ole]urg 4] 2x+ay =8
bx—-6y=14
@ -4 ® -2

g ¢

2x +ay=8°] (2,-2) & W
4—-2a=38

Soa= -2

bx -6y =4°] (2,-2) 5 ¥
2b+12 =14

b=-4

a+b=-6




8.

0.4x+0.5y=1.1

SERE Ry {2 &z
?(2x+y)=2
® (-4, —1) @ (-4, 1) @ (-1, 3)
@@ -1 ® (4, 1)
B
04x+05y=11 ---@
{%(2x+y)=2 O
DO x10, @ x 7 54,
{4x+5y=11---®
dx+2y=14---@
®-@E 34,

x=4, y=-10°]|t},




® x-2>3[5] @ x-2>2[1]
® 2x+1=5[1] (@)—2)621[—1]

® 2x-1<x-3[0]

@ —2x > 1904
x=10" -2x(-1)=2>1(




? (g 370)
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HE
oju

J
~

1 1
g-i-aZ——l—b

@

(@)a—32b—3

——a>-<b

® -a+3>-b+3

@3a—123b—1

3

3




FEA3x+7<x+11 <10 = UF
=
=

O -2 @)-1 ® 0

HEShE x O & S 7L
T-skei et

¥
ru

F

O

3x+T7<x+11<10

3x+7<x+11 x<2
ﬁ
x+11<10 x< -1
ox<-1

oA 7HE 2 Bee -1 ol
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°
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ol
BSS

1
Sx+3
g%t

@)y = -

2
‘x4l
3

Dy

@ y=3x-5

®y=2x+5

® y

-2x+6




13. A4 A(=4, 0), B0, 2),C (a, 4) 7+ D=4 el 91 ], 0 ©] G
Fafoia

@ 2 @ -4 ® -3 @ 3 @4




14.

©a>0,b<0 @ a>0,b>0 ® a<0,b>0
@ a<0,b<0 ® a>0,b=0

—a<0,a>oo]1§<0°1]A1a>0015§b<001E}.




15.

71717k 5 °]al, A (1, 3) = Av=
@ y=5x+3 @ y=5x-3
@y:5x—2 ® y=bhx

y=>5x+b°l (1, 3)  tHYstH
3=5x1+b,b=-2,
SLoy=05x—-2




